3-15 Write an algorithm based on a list stack structure to get top element, to judge the stack empty, to push and pop, as well as makenull.

3-20 Fig.3.12 shows the scheduling of a railway station, it is a stack structure. There are three carriages (No.1, No.2, No.3) on the right track. Each carriage can be brought into the station, and can be towed away at any time. If the carriages (No.1, No.2, No.3) are brought in turn, how many possible orders of going out from the side of the station track? Please write them specifically. What is the situation, if there are four carriages (No.1, No.2, No.3, No.4) going into the stack on the track in turn? 

[image: image1.png]



Fig.3.12

3-35 If a queue is not set a header node, as shown in Fig.3.13, and make front=rear= null, representing the queue is empty, please write an algorithm to achieve five basic queue operations (setting empty, enqueue, dequeue, judging empty and reading head).
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Fig.3-13

